5.2%

Find a value zj of the standard normal random variable z such that

@ P(z < z) = .0401
b. P(—20 <2z < 2) =.95
@P(-—ZU <z< 20) =.90
d. P(—2 < z < z) = .8740
(e) P(—20 < 2 < 0) = .2967
f. P(-2 < 2 < 2) =.9710

g P(z>2)=.5
(B P(z > ) = .0057 0,040 0.040)
o. B(4, /—?:Q* 0404 ,Q/

?Lo<%<-a>) 0.5~ 0.040| = OHEﬁ‘iﬁ;—b (35 =925 =-/,35
b, (&>z.) 0025 Do {2 = 04F5 b Zo= .96

c. P(Z27%) =005& P (0< 2 <) =045 —b =165

A P(2>2) 20063 & P(0(2<2) = 013F > A BF
e 2(0g 2 €)= 0296+ = =0,33

f. (o« Z<2)=0.412
P(0< Z < 20) 209710 -04332 = D.ya3g—> 2o =25

4, w=0-
h. 2\1}5%2 ZQ: , 0057 / i _ 0,005%+
Do<hea)y 0.5-pos — . et

= 04943 =>2%=255




